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Question Number : 1 Question Id : 6801914642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Protection against pathogens relies on several levels of defense mechanisms.
Arrange the following defense mechanisms in the order of their occurrence:
(A) Adaptive immunity

(B) Complement/Antimicrobial proteins

(C) Anatomic barriers

(D) Innate immune cells

1. (A). (B).(C).(D).

2. (A), (B). (D). (C).
.(B). (A). (C). (D).
(C). (B). (D). (A).

e g

Options :

68019118101. 1
68019118102. 2
68019118103. 3

68019118104. 4

gcollegedunias
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Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS| & fas TR&M, GR&T Ul & By wRl R IR Pl gl ufed g &
0 O FafiiRgd & ushdi &l ouaiyd &
(A) STl HicRar
(B) T RFMURIL T
(C) IR T
(D) 3fuitd Wi el iR
- fGU T fae el 5 9 gl 9wk I
1. (A). (B). (C). (D)
2. (A). (B). (D). (C)
3.(B). (A). (C). (D)
4.(C). (B). (D). (A)

Options :

68019118101. 1
68019118102. 2
68019118103.3

68019118104. 4

Question Number : 2 Question Id : 6801914643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the secondary messenger in GPCR signaling:

1. Ras

2. Sre

. PIP2
4. cAMP

Options :

L]

68019118105. 1
68019118106. 2
68019118107. 3

68019118108. 4
collegedunia:
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Question Number : 2 Question Id : 6801914643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafarad & 9 o A1 ofl. 0.3l 3R, Yahd # fgdigs dexans ¢

1. Ras
2. Src
-PIP2
4. cAMP

Options :

L]

68019118105. 1
68019118106. 2
68019118107. 3

68019118108. 4

Question Number : 3 Question Id : 6801914644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Glycosidic linkages present in Glycogen are :

1.51-4.0B1-6
2.ol-4 .0l1-6
3.61-4. a 1-6
4. al-4.01-6

Options :

68019118109. 1
68019118110. 2
68019118111.3
68019118112. 4

Question Number : 3 Question Id : 6801914644 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Normal Response Time : N.A 1
Minimum Instruction Time : 0 gcollegedunias
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Correct Marks : 4 Wrong Marks : 1
TGP o H IURYT RSP INSH oo 54 UPR &

1.51-4.61-6
2.al-4, al-6
B1-4, 0 1-6
4. al-4 61-6

L]

Options :

68019118109. 1
68019118110. 2
68019118111. 3
68019118112. 4

Question Number : 4 Question Id : 6801914645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Steps in a gene cloning experiment are:

(A). The gene to be cloned, 1s inserted into a vector that transports the gene into a
host cell.

(B). After a large number of cell divisions, a colony of identical host cells is
produced.

(C) In the host cell the vector multiplies producing identical copies of itself as
well as of the gene that it carries.

(D). When the host cell divides. copies of the recombinant DNA molecule are
passed to the progeny.

Choose the correct answer from the options given below:

1. (A). (C). (D). (B).
2. (A). (B). (D). (C).
3.(A). (B). (C). (D).
4. (B). (C). (D). (A).

Options:

68019118113. 1
68019118114. 2
68019118115.3
68019118116. 4

gcollegedunias

Question Number : 4 Question Id : 6801914645 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S g IO & TR0 39 UHR &
(A) TAH 5T O a1 i1 &1 U dac | Uiay foar 91dl & o o &1 U
OIS} HIfeT § RIFEERd &idl ol
(B) ol T H DIfhT [dUSH & d1e. THH Ui SIfw1sl 1 Ud Hdg &l
JGA Bl gl
(C) TIHt IR & Yared 3194 1Y-91Y 39 o9 &1 GHE Uiadi &1 Idre-
HYdl ¢ ol 98 98- &l o
(D) 5ia Ut IRt fquiford gidt 8,  giaicie SiuAT 3] &1 wfoai Tdfd
B WA 81 9l 5
- fau U faeeal § ¥ 98l SR -

1. (A). (C). (D). (B)

2. (A). (B). (D). (C)

3. (A). (B). (C). (D)

4. (B). (C). (D). (A)

Options :

68019118113. 1
68019118114. 2
68019118115.3

68019118116. 4

Question Number : 5 Question Id : 6801914646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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In the fuzzy matching of regular expressions with a query sequence:

A. Degree of closeness between two strings 18 determined.

B. Distance metric is known as edit distance.

C. Edit distance determines how close two strings are. by finding the minimum
number of edits required to transform one string to another.

D. Four main types of edits are Insert. Delete. Switch and Replace.

Choose the correct answer from the options given below:

1. (A). (B) and (D) only
2.(A). (B) and (C) only
3.(A). (B). (C) and (D)
4. (A) and (D) only

P N

Options:

68019118117. 1
68019118118. 2
68019118119.3

68019118120. 4

Question Number : 5 Question Id : 6801914646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U &1 3Ihd & Iy Faffd sifiedss! 3 vl 4f o

(A). 3l & & o Mdear &1 ®ife Fyiia o1 9 81

(B). G W oI HuTeA gl & &4 H S oIl 5|

(C). U f&71 1 gl 67 § 95 o ofU 3Mavg s JureH| i giad =1
@1 Udl AR, aTe- i Huia Pedl 8 fé af e fbae Rae §

(D). IR &I USHR & HUIG 3¢, [Saiie, &g iR Re9 5|

- fau T fosedl & T 981 3w I:

1. ®ad (A). (B) 3R (D)

2. B4 (A), (B) 3R (C)
3. (A). (B). (C) 3R (D)
4.%ad (A) 3R (D)

Options :

68019118117.1

68019118118. 2 ,
collegedunia:

68019118119. 3 s



68019118120. 4

Question Number : 6 Question Id : 6801914647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Enzvme) (Reducing equivalent/Energy phosphate)|
A |Pvruvate dehvdrogenase I ATP- i
B. |Succinate dehvdrogenase II. [NADH
C. |Succinate thiokinase 1II. INADPH
D. |6-phosphogluconate dehydrogenase| IV. |FADH,

Choose the correct answer trom the options given below:

(A) - (I). (B) - (ID), (C) - (TII), (D) - (IV)
. (A) - (D). (B) - (IIT). (C) - (II). (D) - (IV)
A(A)-(I). (B) - (IV). (C) - (I). (D) - (III)
(A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)

| R

e g

Options :

68019118121. 1
68019118122. 2
68019118123.3
68019118124. 4

Question Number : 6 Question Id : 6801914647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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! 11 i 11 F e wifore

a1 qEn
CIEL) |t wHge /S Biebe)
A |uaEde feggeema I |ATP
B. |Gidg-e fegge-a II. [NADH
c. [gfdeHe fRmifE-g 111 [NADPH
D. |6- B EhI®IHe fSesgla-g| IV. [FADH;
FrafaRad faeedl T 9 Tal 3R &1 99 Hifoll

1. (A) - (I). (B) - (I). (C) - (IIT). (D) - (IV)

2. (A) - (1), (B) - (111), (C) - (II). (D) - (IV)

3. (A) - (II). (B) - (IV). (C) - (I). (D) - (III)

4. (A) - (IID). (B) - V). (C) - (D). (D) - (II)
Options :
68019118121. 1
68019118122. 2
68019118123. 3

68019118124. 4

Question Number : 7 Question Id : 6801914648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Citrate a product of Kreb cyele/TCA cycle inhibit the process of Glycolysis, which
enzyme is inhibited by Citrate

1. Phospho-fructo Kinase II (PFKII)
2. Aldolase

. Pyruvate Kinase

. Phosphoglycerate mutase (PGM)

e L

Options :

68019118125. 1
68019118126. 2
68019118127. 3

68019118128. 4
gcollegedunias
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Question Number : 7 Question Id : 6801914648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s /<1 T. b BT TP I1E e gD a6 o uichdl &l Jiavg
Hdl g, ee gRIPH I UesH &l &l Wiae< %] 91l &

1. BIGI-Ipde] Bl 11 (Y% 1)
2. TSy

3. O&dc P51l

 BIEHISRRE By (UISig)

Options :

=Y

68019118125. 1
68019118126. 2
68019118127. 3

68019118128. 4

Question Number : 8 Question Id : 6801914649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Glycosylation is type of post-translational modification in which the carbohydrate
group 1s added to the protein amino acids, which amino acid 1s linked to N- linked
Glycosylation :

1. Arginine

2. Tyrosine

3. Lysine

4. Agparagine

Options :

68019118129. 1
68019118130. 2
68019118131. 3

68019118132. 4

gcollegedunias
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Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TATSHIRIRH SFaIgAR GYYT BT YHR 3 forgd Flalsgge 948 &I HicH
T o H TifoTa fosa oran 8. & 1 3T 3 T-feies s e 3
TES &

1. oI

2. TR

3. ISR

4. TERIfOE

Options :

68019118129. 1
68019118130. 2
68019118131. 3

68019118132. 4

Question Number : 9 Question Id : 6801914650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The Michaelis constant (Km) in enzyme kinetics represents:

1. The maximum reaction velocity

2. The substrate concentration at halt of Vimax
3. The enzyme concentration

4. The reaction rate at time t=0

Options :

68019118133. 1
68019118134. 2
68019118135. 3

68019118136. 4

Question Number : 9 Question Id : 6801914650 Question Type : MCQ
gcollegedunias

Question Mandatory : No Calculator : Normal Response Time : N.A T
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Correct Marks : 4 Wrong Marks : 1

Togd e § HEeied fRRIS (Km) ggfd&:

. 3ffUHdd Wiafear 9T
Vmax & 378 93 fhaeR gigd!
. UoTgH Higd]

4. 99T t = 0 IR Widfehdl &=

Options :

fas b —

68019118133. 1
68019118134. 2
68019118135. 3
68019118136. 4

Question Number : 10 Question Id : 6801914651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following class A tumor arising from endodermal tissue is linked to

1. Leukemia
2. Carcinoma
. Sarcoma

4. Lymphoma

L]

Options :

68019118137. 1
68019118138. 2
68019118139. 3

68019118140. 4

Question Number : 10 Question Id : 6801914651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019118137. 1
68019118138. 2
68019118139. 3

68019118140. 4

Question Number : 11 Question Id : 6801914652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Antibiotic Microorganism
A |Penicillin G L Sn‘epmm}'c;s orisenus
B. |Gentamvcin II. |Bacillus subtilis
C. |Bacitracin II1. |Penicillium chrysogenum
D. |Cyvcloheximide | IV, |Micromonospora purpurea

Choose the correct answer from the options given below:

- (A) - (D). (B) - (D). (C) - (IIT). (D) - (IV)
(A) - (I). (B) - (III). (C) - (II). (D) - (IV)
- (A) - (). (B) - (II). (C) - (IV). (D) - (I1I)
4. (A) - (II). (B) - (IV). (C) - (). (D) - (1)

|

a2

Options :

68019118141. 1
68019118142. 2
68019118143.3

68019118144. 4

gcollegedunias
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Question Number : 11 Question Id : 6801914652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 9=l 11 9 e Sifor
F:tﬁ I %

ki
ofafafe o L | ErmEay Ahgg
EEEIFTE] 1L | gy galeferg
afgeTid 1L | QR8s wigdletT9

)

UEdclelradgs| IV, | TIS@imiHIaRT T

Fafeiad [deedl § U 9ol 3O &1 99 S ;

1. (A) - (I). (B) - (I). (C) - (II). (D) - (IV)
2.(A)-(1),(B) - (II). (C) - (II), (D) - {IV)
(A) - (D). (B) - (I1). (C) - (IV). (D) - (IIT)
4.(A) - (III). (B) - (IV). (C) - (I). (D) - (I)

=

gl | =

L]

Options :

68019118141. 1
68019118142. 2
68019118143. 3

68019118144. 4

Question Number : 12 Question Id : 6801914653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List I with List II

LIST1 LIST II
G/AATTC I. |EcoRI
A/GATCT II. |HindIII

A/AGCTT I1I. |BamHI
G/GATCC IV. |BgllI

ofa[w]»

Choose the correcr answer from the options given below:

1. (A) - (1), (B) - (I). (C) - (IIT), (D) - (IV)
2. (A) - (I). (B) - (IT). (C) - (II). (D) - (IV)
3.(A)-(I). (B) - (IV). (C) - (II). (D) - (II)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (1I)

Options :

68019118145. 1
68019118146. 2
68019118147. 3

68019118148. 4

Question Number : 12 Question Id : 6801914653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

! 1 1 g1 11 ¥ i Sifee

g1 T I
A. [G/AATTC I [EcoRI
B. [AGATCT |1 [HindmI
C [AAGCTT  |TI [BammI
D [ciGarce  [1v [Bem

Fafeiad [deedl H§ 9 9el Su &l 99 S ;

1. (A) - (I). (B) - (I). (C) - (IIT). (D) - (IV)
2.(A) - (I). (B) - (). (C) - (II). (D) - (IV)
3.(A)-({). (B) - (IV). (C) - (IL). (D) - (III)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019118145. 1 ,
collegedunia:

68019118146. 2 s



68019118147. 3
68019118148. 4

Question Number : 13 Question Id : 6801914654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In the process of photosynthesis. electrons are produced from the photolysis of
water molecules. Which among the following 1s the 1st electron carrier from
Photosystem 2

1. Pheophytin

2. Phylloquinone
3. Plastocyanin
4. Photosystem 1

Options :

68019118149. 1
68019118150. 2
68019118151. 3

68019118152. 4

Question Number : 13 Question Id : 6801914654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TSI HREYUT 1 Ufeha H, STd & {U[3{T & YTRI-3THe ¥ Seiael-4 &l
e il o | Halied 3 ¥ &F 1 ye19-d4 2 ¥ HYH 5adg - dI6® o

1. TmIeied
2. BIalie-aH
3. W AT
4. JRTL-YUTTEl 1

Options :

68019118149. 1

68019118150. 2 ,
collegedunia:

68019118151. 3 s



68019118152. 4

Question Number : 14 Question Id : 6801914655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in the inereasing order of reducing power
(A) Li+

(B) Zn2+

(C) Na+

(D) H+

.(A). (B). (C). (D).
.(A). (B). (D). (C).
.(B). (A). (C). (D).
. (D). (B). (C). (A).

faa a3 —

=

Options :

68019118153. 1
68019118154. 2
68019118155. 3

68019118156. 4

Question Number : 14 Question Id : 6801914655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{9 @1 sra=mdl idd & SRiet H H ouafud o
(A)Li™

(B) Zn2 ~

(C)Na~

D)H™

1. (A). (B). (C). (D)
2. (A), (B). (D). (C)
.(B). (A). (C). (D)
(D). (B). (C). (A)

Options : .
P gcollegedumas

68019118153. 1 =

e Taa



68019118154. 2
68019118155. 3

68019118156. 4

Question Number : 15 Question Id : 6801914656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Gel Electrophoresis the gel matrices should have following properties
(A). Adjustable pore size

(B). Should exhibit electroosmosis

(C). Chemucally mnert

(D) Pore size does not depend on the concentration of gels

Choose the correct answer from the options given below:

.(A). (B) and (D) only.
. (A). (B) and (C) only.
(A). (B). (C). (D).

4. (C). (B) and (D) only.

|

L]

Options:

68019118157. 1
68019118158. 2
68019118159. 3
68019118160. 4

Question Number : 15 Question Id : 6801914656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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ST degd- U § o e § Fafafad o s Tk
(A) AN s PR

(B) d5gd-URTERYI UefRid BT MY

(C) VNS ¥4 ¥ iy

(D) fog &1 PR oA B Wiga R R gl axar g

-2 fdu e faedl o ¥ 98t SR -

1. %ad (A). (B) 3R (D)
2.%ad (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)

4. %ad (B), (C) 3R (D)

Options:

68019118157. 1
68019118158. 2
68019118159. 3
68019118160. 4

Question Number : 16 Question Id : 6801914657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which cells are primarily responsible for producing antibodies in response to an
infection

1. Helper T cells

2. Cytotoxic T cells

. B cells

4. Natural killer cells

Options :

LI %]

68019118161. 1
68019118162. 2
68019118163. 3

68019118164. 4

Question Number : 16 Question Id : 6801914657 Question Type : MCN Nntian Chufflina - Nn Te
Question Mandatory : No Calculator : Normal Response Time : N.A T collegeduniag

Minimum Instruction Time : 0 =



Correct Marks : 4 Wrong Marks : 1

Tep U] i Uidfchal & UicRaft & Ieare- & o1 g =9 9 i Ul DIfRep1d

1. 8T <l DIABIY

2. BIfAPIfas &t HIASBTY
3. dl DifRD1d

4. Tipfde ARS SIS

Options :

68019118161. 1
68019118162. 2
68019118163. 3

68019118164. 4

Question Number : 17 Question Id : 6801914658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

When influenza virus enters a cell. it immediately starts to do which of the
tollowing

1. Incorporate viral DNA to host cell

2. Destroy the host cell’s transcriptional machinery

3. Replicate its genetic material and synthesize viral proteins

4. Use a viral copy of reverse transcriptase to manufacture viral DNA

Options :

68019118165. 1
68019118166. 2
68019118167. 3

68019118168. 4

Question Number : 17 Question Id : 6801914658 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1 gwllegedunias
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9 RIS aWIY] U 1Tt & Ha -l &, di 98 depTd Hareed 4 9
DI T BT BT URY P ol 6

1. 9T 17T H 9ravel SITTU &1 JHIGE ST

2. GIY DIfehT B icegT HRIFR 1 78 Bl

3. 39 a1 uard &1 giaeid e 3R ardRd UiclH &l aftd
Bl

4. ITORE S10U 91 & forg Rad oiaforDd &1 arRa ufd &1 Sugi &3

Options :

68019118165. 1
68019118166. 2
68019118167. 3
68019118168. 4

Question Number : 18 Question Id : 6801914659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct for Shuttle Vectors

(A). These vectors are created by the recombinant techniques.

(B). These vectors can be grown 1n one host and can be moved into another
without any extra manipulations.

(C). They contain two origins of replications.

(D). They are designed to replicate in cells of two different species.

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
_(A). (B). (C) and (D).
4. (B). (C) and (D) only.

T2

Options :

68019118169. 1
68019118170. 2
68019118171. 3

68019118172. 4

Question Number : 18 Question Id : 6801914659 Question Type : MCl( gcollegedunias

Question Mandatory : No Calculator : Normal Response Time : N.A Tinnk 1nme : iv.a



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 & 9 319 1 Y- Tgu Jae® & R a8t §:

(A) T HaATED YAHAIS qob-id] gRT &8 Si1d & |

(B) 5 HaATE®I @ U Ul 4 Hqls 1 o gabell o 3R fa1 ot sifcifeaa
TR P gER § WFIARd a1 o 9odi g

(C) 374 ufdefadi & S Swa g |
(D)ﬁ&?ﬁﬂﬁﬂﬁiﬂﬁfﬁﬂﬁiﬁﬁ%ﬁﬁﬁﬁﬂ%%ﬂ%ﬁ@
GRS

- fau Y fdmedl O 9§ 981 SR 9:

1. ®dd (A). (B) 3R (D)
2.%ad (A). (B) 3R (C)
3.(A). (B). (C) R (D)

4.%ad (B), (C) 3R (D)

Options :

68019118169. 1
68019118170. 2
68019118171.3
68019118172. 4

Question Number : 19 Question Id : 6801914660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A special type of template independent DNA polymerase which doesn’t require a
template strand for DNA synthesis :

1. DNA Polymerase I

2. Taq Polymerase

3. Tdt Terminal deoxy transferase
4. DNA Polymerase €

Options:

68019118173. 1

68019118174, 2

68019118175. 3

68019118176. 4 gcollegedunias.

~



Question Number : 19 Question Id : 6801914660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U [ UHR BT S0 c-SHNMYd SIUAU Gl o SIu-U IRyl & i
CIOIE YS[® B HaLIHdl gl il o

1. 31 T, 0. i 1

2, T Uiei

3.2 8. . efiaa Sleffadl ciathed
4.@&@@%@5

Options :

68019118173. 1
68019118174. 2
68019118175.3
68019118176. 4

Question Number : 20 Question Id : 6801914661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In prokaryotes a polymerase enzyme DNA Pol I function in removing the RNA
primer from the newly synthesized DNA strand. what 1s eukaryotic homolog of
thig enzyme

1. Proliferating Cell Nuclear Antigen
2. Replication Factor C-protein
3. Flip-Endonuclease-1

4. Endonuclease V

Options :
68019118177. 1
68019118178. 2

68019118179. 3

68019118180. 4
collegedunia:
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Question Number : 20 Question Id : 6801914661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T -5cb] & U Uil TegH S1U YT 1 -0 SR SITTU I &
HRUAU UISHR Bl §eH & BRI Il 6. 59 UAH &1 Jhad! FHed 1 6:

1. DI AMHB G Hido & TR
2. Ufdepfd RS -1

3. fT- TS fdTTS-1
4. TSIgfdIus v

Options :

68019118177.1
68019118178. 2
68019118179. 3

68019118180. 4

Question Number : 21 Question Id : 6801914662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the most direct cause of polyteny in somatic cells of
certain organisms

1. DNA sequence that can move from one site in the genome to another without
replicating

. DNA sequence that can be deleted from the genome without consequence

. DNA sequence that replicates via an RNA intermediate

4. DNA sequence that replicates via a protein intermediate

| ]

L]

Options :

68019118181. 1
68019118182. 2
68019118183. 3

68019118184. 4

gcollegedunias

Question Number : 21 Question Id : 6801914662 Question Type : MC(_

-



Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFofaiad o 9 ®H 9 3o wildl Bt ARIRS DIfrs1s I ggufedm (didicHt) o1
T Hde BRUT B

1.ﬁw%mﬁﬁﬁwﬁmsﬂﬁﬂﬁwwﬁqﬁwwm
Hehdl

2. SITAY S H ford faT faslt gRomms & Sii18 9 g2/ o 9ahdl &

3. SITY SFIHH Sl HRUAT Hedad! o e § Hfapfd a1 8
4. SITU 3shH Sl UIdH Tegad! o A1ead J Ufdepid i 8

Options :

68019118181. 1
68019118182. 2
68019118183. 3
68019118184. 4

Question Number : 22 Question Id : 6801914663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The presence and distribution of specific mRNAs within a cell can be detected by

. Northern Blot analysis
. RNase protection assay
. In situ hybridization

4. Real-time PCR

Options:

|

%)

68019118185. 1
68019118186. 2
68019118187. 3
68019118188. 4

Question Number : 22 Question Id : 6801914663 Question Type : MC(
gcollegedunias

Question Mandatory : No Calculator : Normal Response Time : N.A 1

~

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

B & Hiaw ol tremuTu ot Iuffa iR g &1 a1 g gr
ST Sl 9ehdl &

1. A1d- sale f[aRawo

2. HRUATS &7 HTHYT
3. §7 I Ghu

4. Rgd-esA dHisR

Options :

68019118185. 1
68019118186. 2
68019118187. 3

68019118188. 4

Question Number : 23 Question Id : 6801914664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct sequence of steps in PCR 1s

(A). Denaturation

(B). Annealing

(C). Primer Extension

(D). A mixture of DNA fragment to be amplified. two primers. four deoxyribose
triphosphate and DNA polymerase 1s created.

Choose the correct answer from the options given below:

1. (A), (B). (C). (D).
2. (A). (C). (B). (D).
3.(B). (A). (D). (C).
4. (D), (A). (B). (C).

Options :

68019118189. 1
68019118190. 2
68019118191. 3

68019118192. 4

Question Number : 23 Question Id : 6801914664 Question Type : MCl( gco"egedumag

~



Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. &t 3R, & =Rl &7 el HH

(A) fapfaezo

(B) 3HIaH

(C) YRS [dHR

(D) Hattid fT & aTel SITTY ©S D1 T (Y01, 3 YRED, IR
SRR CemIedbe 3R SIUT gieiHy a4 wid 6|
- f3U T fde el & O el SR T:

_(A). (B). (C). (D)

.(A). (C). (B). (D)

.(B). (A). (D). (C)

(D). (A). (B). (C)

| S

e Taa

Options :

68019118189. 1
68019118190. 2
68019118191.3

68019118192. 4

Question Number : 24 Question Id : 6801914665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following technique do not use PCR for polymorphism detection

1. RAPD
2. RFLP
. AFLP
4. RT-PCR

Options :

(%]

68019118193. 1
68019118194. 2
68019118195. 3

68019118196. 4
collegedunia:
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Question Number : 24 Question Id : 6801914665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafEd o 9 o d do-ie 9g=udl S Ydl 97 & [T UIiiSR o1 3ugnT
1. 3RUUS!
2. SRYPTE!
3. QU
4. RIS

Options :

68019118193. 1
68019118194. 2
68019118195. 3
68019118196. 4

Question Number : 25 Question Id : 6801914666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The bacteria causing crown gall disease in plants

. Agrobacterium tumefaciens

. Agrobacterium agile

3. Agrebacterium albertimagni
4. Agrobacterium rubi

I =

Options :

68019118197. 1
68019118198. 2
68019118199. 3

68019118200. 4

Question Number : 25 Question Id : 6801914666 Question Type : MCl(
collegedunia:

Question Mandatory : No Calculator : Normal Response Time : N.A 1

~



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

grelf & gepe O IT-HRE Sitar];

%
]

4. THRTRTT o
Options :
68019118197. 1
68019118198. 2
68019118199. 3

68019118200. 4

Question Number : 26 Question Id : 6801914667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The transfer of tissue between genetically identical mdividuals 1s called

1. Autocraft

2. Xenocraft

. Allograft

4. Syngeneic graft

s

Options :

68019118201. 1
68019118202. 2
68019118203. 3

68019118204. 4

Question Number : 26 Question Id : 6801914667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1 gcollegedunias

~



HTAIR1e U § GHH Afdqd| & aid Had & RIFEGRY Bl S8l ofldl o

3

-

3. SRR
4, JHEAFRIY
Options :
68019118201. 1
68019118202. 2
68019118203. 3

68019118204. 4

Question Number : 27 Question Id : 6801914668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Technique could be used to demonstrate protein binding specific DNA sequence

1. Western blotting

2. Northern blotting

. Electro Mobility shift Assay
4. Southern blotting

L

Options :

68019118205. 1
68019118206. 2
68019118207. 3

68019118208. 4

Question Number : 27 Question Id : 6801914668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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-1 [T SGURT UICH g4 fafry SIuU ShH Bl Uaiid B & foy
fe5 a1 o Tl &

1. A% sdlfeT
2. AT slfe
3. faggd mifdsfierdr Wfd s (gode! Hifafad v v
4, & sqlie

Options :

68019118205. 1
68019118206. 2
68019118207. 3

68019118208. 4

Question Number : 28 Question Id : 6801914669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following describes the process of introducing a plasmid into a host
cell

1. Transduction
2. Conjugation
3. Transtection
4. Translocation

Options :

68019118209. 1
68019118210. 2
68019118211.3

68019118212. 4

Question Number : 28 Question Id : 6801914669 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

gcollegedunias

~

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafafad 3 T oF e O $1@ § e @ifers &f siafdy & ot ufear
®1 gui- Sl 8-

1. JRPHI
2. g
3. RIS
4, RYHART
Options :
680191182009. 1
68019118210. 2
68019118211.3

68019118212. 4

Question Number : 29 Question Id : 6801914670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following best describes homologous recombination

1. Recombination between similar cells

2. Recombination between lengths of DNA with identical sequences

. Recombination between Cas9 and gRNA

4. Recombination between different genes coding for similar functions

Taa

Options :

68019118213. 1
68019118214. 2
68019118215. 3
68019118216. 4

Question Number : 29 Question Id : 6801914670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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fFafaiad & | F 91 9ad 31 HEd g GTHaIsH Sl aui S 6:

. OHH PIRHE & d g

1
2. T 3B H! & 1Y SUAE B ddls & §ig gFig e
3. Cas9 3R gRNA & dig gF3greH

4. Y9 Sl & [ou fafid S SIfsT & die gAsaee

Options :

68019118213. 1
68019118214. 2
68019118215. 3
68019118216. 4

Question Number : 30 Question Id : 6801914671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DNA repair pathway which involves the enzyme glycosidases

1. Base excision repair

2. Nucleotide excision repair
. Mismatch repair

4. Direct repair

L]

Options :

68019118217. 1
68019118218. 2
68019118219. 3

68019118220. 4

Question Number : 30 Question Id : 6801914671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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SITU &fd-guR uRey s UesH aga Mg sy 9ifdd 5

&R 395 &fd-gurR
Faiess Jasad &fd-gerR
S0 &fd-guR

4, UaE &fd-gUR

Options :

o b2 —

68019118217. 1
68019118218. 2
68019118219. 3
68019118220. 4

Question Number : 31 Question Id : 6801914672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which Organelle the alpha-oxidation of fatty acids takes place

1. Mitochondria

2. Rough Endoplasmic Reticulum
3. Peroxisomes

4. Lysosomes

Options :

68019118221. 1
68019118222. 2
68019118223. 3

68019118224. 4

Question Number : 31 Question Id : 6801914672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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forg SIS & gy 3l &7 3ewl-HTao-u §1dT 6

AP TOD]
R LEERSIINED
IR BT
4. TGP
Options :

o b2 —

68019118221.1
68019118222. 2
68019118223. 3

68019118224. 4

Question Number : 32 Question Id : 6801914673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Types of mutation present in the gene which doesn’t lead to any change in protein
sequence

1. Missense mutation
2. Nonsense mutation
. Silent mutation

4. Frameshift mutation

(%]

Options :

68019118225. 1
68019118226. 2
68019118227. 3

68019118228. 4

Question Number : 32 Question Id : 6801914673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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o H Iuid Saikad & YPR ol WIEH S HH H By gikdad 78! Hd o:

1. e galadq
2. fRds Tafvada
3. 3ffpa Iafadq
4. WTYRYlI ITRad

Options :

68019118225. 1
68019118226. 2
68019118227. 3

68019118228. 4

Question Number : 33 Question Id : 6801914674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the set R of all real numbers. The empty set @ in R is
(A). closed

(B). open

(C). not open

(D). not closed

Choose the correct answer from the options given below:

. (A) and (C) only.
. (A) and (B) only.
. (C) and (D).

. (B) and (D) only.

|

e g

Options:

68019118229. 1
68019118230. 2
68019118231.3

68019118232. 4

Question Number : 33 Question Id : 6801914674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Thinls Timma - RI A

Minimum Instruction Time : 0 collegeduniag

Correct Marks : 4 Wrong Marks : 1



g4l ardfde SEarsii & =g R R (IR &3 R § Rad
= o gl

(A) Had

(B) faga

(C) SHfdgd

(D) 3FHqd

e feu e fae el o 9 9l 3w -

1. %ad (A) 3R (C)
2. %dd (A) 3R (B)
3.%dd (C) 3R (D)
4. %ad (B) AR (D)

Options:

68019118229. 1
68019118230. 2
68019118231.3
68019118232. 4

Question Number : 34 Question Id : 6801914675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If EiaT\J_,_,,{u"r.r -1 —+/n)=1. Thenlisequal to

s

-1

1
4.

Options :

Taa

68019118233. 1
68019118234. 2
68019118235. 3
68019118236. 4

Question Number : 34 Question Id : 6801914675 Question Type : MC(
gcollegedunias

Question Mandatory : No Calculator : Normal Response Time : N.A 1

~

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
S limy, o (VAT T — i) = 1. A8 | P R 8

.0
=1
: 4

4, oo
Options :

| I

L]

68019118233. 1
68019118234. 2
68019118235. 3

68019118236. 4

Question Number : 35 Question Id : 6801914676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The order of the finite group U(13) is

.13
L2
.26
4.4
Options :

|

Taa

68019118237. 1
68019118238. 2
68019118239. 3

68019118240. 4

Question Number : 35 Question Id : 6801914676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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ORIT 988 U(13) BT Bife &

13

.12
3. 26
4. 4

Options:

| R

68019118237. 1
68019118238. 2
68019118239. 3

68019118240. 4

Question Number : 36 Question Id : 6801914677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The center of a group G 1s a subgroup of G. where G can be

1. Finite group only

2. Infinite group only

3. Any group

4. A group contains more than two elements.

Options:

68019118241. 1
68019118242. 2
68019118243.3

68019118244. 4

Question Number : 36 Question Id : 6801914677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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g G B 5% G BT UD FUHLE §. 96! G 8l 9Dl 6:

1. ad i 9gg
2. Pad T 9Ig

3. @l i 9B
1. TSI A Y e aa s

Options :

68019118241. 1
68019118242. 2
68019118243.3

68019118244. 4

Question Number : 37 Question Id : 6801914678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If {u.v.w} 1s a linearly independent subset of a vector space V then which of the
tollowing sets are linearly independent subset of V.

(A). {u. utv, utvitw}

(B). futv, vtw, u-w}

(C). {urw, v+w, utv+w}

(D). {0}

Choose the correct answer from the options given below:

1. (A) and (C) only.
2. (B) and (C) only.
3.(A). (C) and (D) only.
4. (A). (B) and (D) only.

Options :

68019118245. 1
68019118246. 2
68019118247. 3

68019118248. 4

Question Number : 37 Question Id : 6801914678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A 1 .
collegedunia:

Minimum Instruction Time : 0

~



Correct Marks : 4 Wrong Marks : 1

e {u. v. w} I TR v 3138 9 3 Wdd 3999=4 ¢ qf Fufafad §
U HH I = V B8P ¥ 4 Wad ST :

(A) {u, utv, u+v+w}

(B) {utv. vtw, u-w}

(C) {utw. v+w. utv+w}

(D) {0}

=i fqu Y fasedl O 9 981 3R -

1. Pad (A) AR (C)
2. %ad (B) AN (C)
3. ad (A), (C) 3R (D)
4.%4d (A), (B) 3R (D)

Options:

68019118245. 1
68019118246. 2
68019118247.3

68019118248. 4

Question Number : 38 Question Id : 6801914679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If E and F are two events associated with the same sample space of a random
experiment such that P(E) # 0 and P(F) # 0. then which of the following defines
the conditional probability of the event E given that the event F has already
occured?

i P(EUF)
- P(F)
5 PIENF)
P(F)
3 P(ENF)
= KE)
4 F{EU‘H
P(E)
Options :
68019118249. 1

68019118250. 2 gcollegedunias

~



68019118251. 3

68019118252. 4

Question Number : 38 Question Id : 6801914679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3R g 3R F U grefass WaiT & U of Hides 9919 9 9ol &l gc-m Ul §
fo P(E) #0 3R P(F) # 0. T FORIREd ¥ 93 U1 g &1 gufda=
TR dl ®I URYINT Bl &, ¥ed ¢ (& Uel 7 U8d 51 ol I®1 87

P(BUF)
P(F)
P(ENF)
P(F)
P(ENF)

3 @)
P(EUF)
P(E)

4.

Options :

68019118249. 1
68019118250. 2
68019118251.3
68019118252. 4

Question Number : 39 Question Id : 6801914680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let X be a random variable. If the mean of X is 3.4, then what 1s the mean of the
random variable Y =2X + 97

. 6.8

. 148
124
4. 158

Options : gcollegedunias

68019118253. 1 b

| R

L]



68019118254. 2
68019118255. 3

68019118256. 4

Question Number : 39 Question Id : 6801914680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OFT X U6 JefE5d d e | Ui X BT AT 3.4 8, O Tefy® I8 Y = 2X + 0 &
TTeH 1 87

. 6.8

. 14.8
.12.4
4.15.8

Options :

o d =

68019118253. 1
68019118254. 2
68019118255. 3
68019118256. 4

Question Number : 40 Question Id : 6801914681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

x+1 y+1

What is the angle between the pair of lines —

X+3 =4 ¥l o
3 2 5
1. cos[(—=)

244133
1T
2. sin’| )
24133
3. cos|——)
133
) 17
4. sin(——)

4133
Options : gcollegedunias

~



68019118257. 1
68019118258. 2
68019118259. 3

68019118260. 4

Question Number : 40 Question Id : 6801914681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P _ V2 o 22 R VD 2 sl & g O o 1 I T @

2 3

| ()
L
.
=
rﬂl
=
o
i

Options :

68019118257. 1
68019118258. 2
68019118259. 3

68019118260. 4

Question Number : 41 Question Id : 6801914682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

lim_ (Vx*+5-x")=2
1.1
2. Does not exists
0

J5 :
collegedunia:

Options : S

e g



68019118261. 1
68019118262. 2
68019118263. 3

68019118264. 4

Question Number : 41 Question Id : 6801914682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

limgs oo (v/78 45 — &%) =?

1
g g
L0

|

S )

]

Options :

68019118261. 1
68019118262. 2
68019118263. 3

68019118264. 4

Question Number : 42 Question Id : 6801914683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match the following List-I of differential equations with their respective order and

degree in List-II.

LISTI LISTII
Differential Equations Order and degree
1
A ﬂ\]* =AY I. |Order-2 and degree-1
e ) gy
.ok
[ dy dy
B. |5 | S—+6y=0 II. |Order-1 and degree-2
'.\ [.h'_ J fi'f
£ N2
C | & +2 & 0 II1. | Order-3 and degree-2
\ e el
47 B A
D. i'—:—J i | 24 Fy=0 IV |Order-2 and degree-3
L elx” dx )

Choose the correet answer from the options given below:

L (A)-(I).(B) - (II). (C) - (IIT). (D) - (IV)
2.(A)-(IV). (B) - (I). (C) - (I). (D) - (IIT)
3.(A) - (D). (B) - (I). (C) - (IV). (D) - (IIT)
4.(A) - (IID), (B) - (IV). (C) - (I). (D) - (II)

Options :

68019118265. 1
68019118266. 2
68019118267. 3

68019118268. 4

Question Number : 42 Question Id : 6801914683 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Ritee Tl o Prafiad g o1 R Gl & o et Bife iR

HId 9 B
Tl 1 RSk
3THd THIBUT Hife Y ud
1
A (dj)gzd‘.’f’ I |@ife-2 3R 91d-1
dx dx?
dy dy a
B |l-—=45—416y=0 1L |®ife-1 3R 922
dx = dx :
C (d-‘-*’)jud-”’ -0 |IL[®ife3 R 9E2
Nax) Ta YT ' ‘
dy : dy -
o |[ 22 () = o| IV |@if2) 3
(dxa) +(52) +y =0 IV [@Ife-2 SR EE-3

frafaRad famedl & T Wl STR &l 98- DI :

L. (A)- (D). (B) - (II). (C) - (I). (D) - (IV)
2. (A) - (IV). (B) - (I). (C) - (I1). (D) - (III)
3.(A) - (1), (B) - (I1), (C}) - (IV). (D) - (IIT)
4.(A) - (I). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019118265. 1
68019118266. 2
68019118267.3
68019118268. 4

Question Number : 43 Question Id : 6801914684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement regarding salt bridge is correct

(A). A salt bridge is a tube containing an electrolyte.

(B). A salt bridge 1s s connected to the two half-cells.

(C). The salt bridge allows the flow of ions but prevents the mixing of different
solutions.

(D).The salt bridge allows the flow of ions and the mixing of different solutions.

Choose the correct answer from the options given below:
.(B). (C) and (D) only. gcollegedunias

3.(
4. (A). (C) and (D) only. ~

1.(A). (B) and (D) only.
2.(A). (B) and (C) only.



Options :

68019118269. 1
68019118270. 2
68019118271.3
68019118272. 4

Question Number : 43 Question Id : 6801914684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AaURIq & Hay I Fafaiad O 9 ©F | SUF 98 6

(A) U AU SaideaTge-ga Al g

(B) U% QU] &l Sit-9d 4 931 g3 5

gﬁgﬁg&mﬁfé?mfﬁ AT &l § Wi fafie fae=i & My &l
|

(D) TAURI] 7 & vaTe AR fafim faea=i & s & siafa Sar g

T féu U fdsedl O 9 98l 3R -

1. %ad (A). (B) IR (D)
2. BT (A). (B) 3R (C)
3. ®ad (B), (C) 3R (D)
4.%ad (A). (C) IR (D)

Options:

68019118269. 1
68019118270. 2
68019118271. 3
68019118272. 4

Question Number : 44 Question Id : 6801914685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Arrange the following electromagnetic radiation in the increasing order of
wavelength

(A) Radio waves

(B) Microwaves

(C) IR

(D) UV

1. (A). (B). (C). (D).
2. (D), (C). (B). (A).
3.(B). (A). (D). (C).
4. (C). (B), (D), (A).

Options :

68019118273. 1
68019118274. 2
68019118275.3
68019118276. 4

Question Number : 44 Question Id : 6801914685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeiad fagga Irae i fafexul & airetd & SRig! H § ogaieyd &
(A) STl o

(B) &ATH!

(C) 3faxad

(D) GRTETHT

1. (A). (B). (C). (D)
2. (D). (C). (B). (A)
3.(B). (A). (D). (C)
4.(C). (B). (D). (A)

Options :

68019118273. 1
68019118274. 2
68019118275.3

68019118276. 4

, , , gcollegedunias
Question Number : 45 Question Id : 6801914686 Question Type : MC( -



Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LIST I1
(Nature of Bonding) (Attributes)
Hydrogen Bonds [. |Electronegativity

London Dispersion Forces| II. |Electrostatic attractive forces

Metallic Bonding II1. |Electrical Symmetry

ofo[w[»

Dipole-Dipole Interaction | IV, |Permanent dipoles

Choose the correct answer from the options given below:

(A) - (). (B) - (II). (C) - (III). (D) - (IV)
. (A) - (I). (B) - (IIT). (C) - (IT). (D) - (IV)
M(A)-(I). (B) - (I1). (C) - (IV). (D) - (I1I)
4.(A) - (IIT). (B) - (IV). (C) - (D). (D) - (II)

ba =

L]

Options :

68019118277. 1
68019118278. 2
68019118279. 3
68019118280. 4

Question Number : 45 Question Id : 6801914686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



! 11 i 11 F e wifore

I I
@ﬁﬁwﬁ) :
A [ERSH Y 1. |dggd-BulEG
B. [cie faaau &a 1. [RRRIEYd HHNS ad
C. |urg e I1L. |dggd AfHfd
D. |fEdr-faydia sia-fva| v [wumd fgya
frafafad fae el & 9 981 SR &l 99 S5

L. (A) - (I}, (B) - (IT), (C) - (IIT), (D) - (IV)
2.{A)-(1),(B) - (II), (C) - (II), (D) - {IV)
3. (A) - (I). (B) - (I1). (C) - (IV). (D) - (IIT)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019118277. 1
68019118278. 2
68019118279. 3
68019118280. 4

Question Number : 46 Question Id : 6801914687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List I with List IT

LIST 1 LIST II
(Thermodynamic e
Quantity) (Significance)
A Heh_nl%oltz e [. |Disorderness of biological svstem
energy

B. |Gibbs Free Enerev | II. Heat evolved in biological process at
= constant pressure

C. |Entropy II1. |Work Function

D. Internal Energy

IV, |Maximum non-expansion work

Choose the correct answer from the options given below:

L. (A) - (I}, (B) - (IT), (C) - (IIT), (D) - (IV)
2.{A)-(1),(B) - (II), (C) - (II), (D) - {IV)
(A) - (I). (B) - (ID). (C) - (IV). (D) - (III)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

L)

Options :

68019118281. 1
68019118282. 2
68019118283.3

68019118284. 4

Question Number : 46 Question Id : 6801914687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



! 11 i 11 F e wifore

gl = 11

RIED)] (Hed)

A |[eEeied gad S| 1 [Sifad womelt &t sremaw

B. |fireg gad Seif I |G Sifae Ufehan & iR cad R Aaiid giar e
C. [T 1L |6 e

D. |Hiaf® el IV, | e R fawR @

fFrafaRad faeeal & 9 Hel SR &1 90 Py :

1. (A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
2.(A) - (I). (B) - (III). (C) - (II). (D) - (IV)
. (A) - (I). (B) - (II). (C) - (IV). (D) - (IIT)
4. (A) - (II). (B) - (IV). (C) - (D). (D) - (II)

L)

Options :

68019118281. 1
68019118282. 2
68019118283.3
68019118284. 4

Question Number : 47 Question Id : 6801914688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following are the statements about Limitations of GEIGER MULLER
COUNTER

(A). Miiller tube 1s always of the same magnitude (regardless of the energy of the
incident radiation), the tube cannot differentiate between radiation types.

(B). Muller tube cannot measure high radiation rates, because each ionization
event 15 followed by a Dead Time.

(C). Neutrons cannot be counted due to their neutral electric nature by this
counter.

(D). A Geiger counter with an end window tube cannot distinguish between alpha
and beta particles.

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3.(B). (A). (C). (D).

4. (B). (C) and (D) only. .
collegedunia:

Options : S



68019118285. 1
68019118286. 2
68019118287. 3

68019118288. 4

Question Number : 47 Question Id : 6801914688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR geR S8R &1 Omreli & aR & Fefifa sy &

(A) IR oId YT TP of uRAT 31 gl § (3mafad fafdm=or & FHaif 9
["RUe). eI a0 UbRI & &9 iR el PR bl 5

(B) JeR gd 3= [a1eh=0] &R @] HIY 6] ¥ g, il YD -1l
geHl & dlg U aRE 99 il g |

(C) w%rmm{ gRT G2 Dl FD1 dey f[dggd Usfd & SR 6! -1 &1
ghdl g

(D) Qa%rﬁ—e'r‘r d g1l 1oR BRICR 3eh SR dlel SOl & a1 SR Tal B
Jhdl g

< fu 7Te fosedl O 9§ 9el 3R I-

(A). (B) 3R (D) Pad
(A). (B) 3R (C) Bhad
.(A). (B). (C) 3R (D)

4. (B). (C) 3R (D) Had

Options :

fag a —

68019118285. 1
68019118286. 2
68019118287. 3

68019118288. 4

Question Number : 48 Question Id : 6801914689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
collegedunia:

~



Which of the following statements are correct about Nuclear magnetic resonance
(NMR.) spectroscopy

(A). NMR spectroscopy is a type of electromagnetic spectroscopy

(B). NMR uses radiations in the radio frequency (RF) portion of the spectrum.
(C). NMR works on the basic principle that a spinmning charge (such as the nucleus
of an atom) generates a magnetic field.

(D). NMR works on principle of diffraction of nuclear radiations from magnetic
field produced by spinning electrons.

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A).(B) and (C) only.
3.(A). (B). (C). (D).
4. (B). (C). (D) only.

Options :

68019118289. 1
68019118290. 2
68019118291. 3

68019118292. 4

Question Number : 48 Question Id : 6801914689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

#W@?HWW%@@W%*ﬁﬁﬁﬁﬁaﬂﬁ@aﬁﬁ

1 Y- Fel 6:

(A) TIUHSIR W EhIUl Uh YHR Bl [dggd I 10 Lkl g

(%B)Wm@f@ﬁ$%%ﬁ&nqﬁnm YRT T fafep=uri &1 Iugi ol
!

(C) TIUHSR 39 T FHGid IR S0 $d1 § & T Y=eh Ul 31a9 (oY fb U

TRA] F1 1) U 98 19 &7 S Hdl o

(D) TTUHSR J=shUl 3adeH1 gRT Sdliad ga® g &7 J i fafdon &

faqd & Rigid Wem Sdar gl

- feu e fasedl © 9§ 961 STR I

1. ad (A). (B) 3R (D)
2. %ad (A). (B) 3R (C)

3. (A). (B). (C) 3R (D)
4.%dd (B). (C) 3R (D)

Options: gcollegeduniaé

68019118289. 1 N




68019118290. 2
68019118291. 3

68019118292. 4

Question Number : 49 Question Id : 6801914690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following are the full width of X-ray diffraction peak at half maxima (FWHM).
obtained for four different erystalline materials:

(A). For material-A. FWHM = 0.4 units

(B). For material-B. FWHM = 1.8 units

(C). For material-A, FWHM = 0.2 units

(D). For material-A. FWHM = 1.0 units

Arrange them in ascending order of crystallite size. Choose the correct answer
from the options given below:

1. (A). (B). (C). (D).
2. (A). (). (B). (D).
3. (B). (A). (D). (C).
4.(C). (A). (D). (B).

Options :

68019118293. 1
68019118294. 2
68019118295. 3

68019118296. 4

Question Number : 49 Question Id : 6801914690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



IR firel fopeciia uardf & forg ure o Sy (UrssyuauH) R gad
faad fRrer @t gt =t Fafofad g
(A) TaTe-A & fou, FwHM = 0.4 SHEAT
(B) UGIY-B & foT0, FWHM = 1.8 SHI54l
(C) 9eTd-A & foIg, FWHM = 0.2 314l
(D) Tard-A & fom, FwrM = 1 SHIEal
3 [hecdld HPR & ARIG! HH T ogaiedd &2 | Aid fGu 7 fawegi & 9 Ig!
IR I
L. (A). (B).(C). (D)
2. (A), (C). (B). (D)
3.(B). (A), (D). (C)
4.(C).(A). (D). (B)
Options :
68019118293, 1
68019118294, 2
68019118295, 3

68019118296. 4

Question Number : 50 Question Id : 6801914691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements 1s true?

(A). Secondary structure 1s two dimensional. whereas tertiary structure 1s three
dimensional.

(B). Primary structure is one dimensional. specifying only the sequence in which
atoms or groups of atoms are connected to one another.

(C). Quaternary structure takes into account time as well as three dimensions in
space.

(D). Biological molecules can also be polymers.

Choose the correct answer from the options given below:

1. (B) and (D) only.
2. (B) and (C) only.
3. (B). (A). (C) and (D).
4. (B). (C) and (D) only:.

Options :
68019118297. 1

68019118298. 2 gcollegedunias

~



68019118299. 3

68019118300. 4

Question Number : 50 Question Id : 6801914691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BN R IR R E e A
(A) fadtaes Txam1 fgsmard 3. Safe gdigs Sa- Bemnd g
(B) WTUH® Te1 U AT 8. ol had 39 KRER P Ay Tl § forgs
TRHATY] A1 AT & T8 U GO ¥ S Bl S
(C) I TEE1 gAY & -1y 3iaRe § T A & &= 8 3Ed o
(D) Sifde 3] ggad 41 81 T o
- fau e faedl § 9 Hel SR :
1. %ad (B) AR (D)
2. Had (B) 3R (C)

3. (A). (B). (C) 3R (D)
4.%ad (B), (C) AR (D)

Options :

68019118297. 1
68019118298. 2
68019118299. 3

68019118300. 4

Question Number : 51 Question Id : 6801914692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



The sequence of reactions catalyzed by pyruvate dehydrogenase complex are
(A). Decarboxylation of pyruvate

(B). Formation of Acetyl-CoA

(C). Formation of acetyl lipoamide

(D). Oxidation of dihydrolipoamide

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A). (C). (B). (D).
3.(B). (A). (D). (C).
4.(C). (B). (D). (A).

Options :

68019118301. 1
68019118302. 2
68019118303. 3
68019118304. 4

Question Number : 51 Question Id : 6801914692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OR=de [STIEgo-d U9 d aRI SoiRd Siffeaise &1 3 %4 &:
(A) ITOR=dc &I Siblaigaea

(B) UfHeTg -1 &1 fHim

(C) TS d oIS S &1 (A

(D) STHBISSITUINHISS DT HlHIH

i fau e fd el T 9§ 981 SR 9:

1. (A). (B). (C). (D)
2. (A), (C). (B). (D)
3.(B). (A). (D). (C)
4.(C). (B). (D). (A)

Options :

68019118301. 1
68019118302. 2
68019118303. 3

68019118304. 4

gcollegedunias

~



Question Number : 52 Question Id : 6801914693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During UV Spectroscopy Tryptophan shows maximum/peak absorbance at

. 260 nm
. 270 nm
. 280 nm
4, 290 nm

Options:

o =

Taa

68019118305. 1
68019118306. 2
68019118307. 3
68019118308. 4

Question Number : 52 Question Id : 6801914693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RTGTT-1 QU AYSTRIATT B1 3fafdl § fePih 9 &R Sfiear/aRy @iy
ﬁ"@lﬁ%’:

. 260 U-UH
. 270 U-UH
. 280 U-UH
4. 290 U-UH

Options :

fad Id =

68019118305. 1
68019118306. 2
68019118307. 3

68019118308. 4

Question Number : 53 Question Id : 6801914694 Question Type : MCl(
collegedunia:

Question Mandatory : No Calculator : Normal Response Time : N.A T

~



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List-I with List-II

LISTI LISTII
A |WebMol I. |PDB
B. |Cn3D II. INCBI
C. |DeepView III. |ExPASy
D. |[PROCHECK |IV |EBI

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (I). (C) - (III), (D) - (IV)
2. (A)-(I). (B) - (II). (C) - (II). (D) - (IV)
3. (A)-(1). (B) - (IT). (C) - (IV). (D) - (III)
4. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019118309. 1
68019118310. 2
68019118311. 3

68019118312. 4

Question Number : 53 Question Id : 6801914694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 ¥ e Sifoe
GGl T I
A |deHld 1 |diSiet
B. [Hiwas3 IL. |Gt
C. [Siusg I1L. [Tt
D. [Uid® v [Zetams
fafeRad f[deedl 4 9 TEl R @l 99 BIfel ;

1. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2.(A)-(I).(B) - (IIT). (C) - (II). (D) - (IV)

3.(A)-(1), (B) - (1I), (C) - IV), (D) - (I1I) .
4. (A) - (IID), (B) - (IV). (C) - (1), (D) - (1) collegedunia:

~

Options :



68019118309. 1
68019118310. 2
68019118311. 3

68019118312. 4

Question Number : 54 Question Id : 6801914695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the purpose of substitution matrices like BLOSUM and PAM in sequence
alignment

1. To pertorm global alignment

2. To measure sequence 1dentity
3. To calculate alignment statistics
. To prediet protein structures

e

Options :

68019118313. 1
68019118314. 2
68019118315.3
68019118316. 4

Question Number : 54 Question Id : 6801914695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

P TXGU T BLOSUM IR PAM S UfARITY ST 1 3530 1 82

1. AU TR B P feru

2. 3Ich T Yg ol HIUH & fag

3. GaU Jilkegsh! &1 UHET &b felg
4. VI TRIA1S]] & Yai-HH & ferg

Options :

68019118313. 1 .
collegedunia:

68019118314. 2

~



68019118315. 3
68019118316. 4

Question Number : 55 Question Id : 6801914696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the two priumnary methods used in phylogenetic analysis for tree
construction, based on character states and distances

1. Cladistics and bootstrapping
2. Phenetics and tree types

3. Cladistics and Phenetics

4. Al and tree analysis

Options :

68019118317. 1
68019118318. 2
68019118319. 3
68019118320. 4

Question Number : 55 Question Id : 6801914696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TUTaRITEH! SR GRAUI & SR WR gef FEior o e Sfgeiy fageyor & guai
ﬁaﬁaﬁﬁaﬁm@ﬁﬁﬁﬁ”wiﬁ‘?
1. JIRMREDT 3R W]
2. A& 3R JE-TPR
3. GRS 3R T&urafiiep!
4. DT YT 3R ggf fazeiu
Options:
68019118317. 1

68019118318. 2

68019118319. 3 gcoﬂegedunias

~



68019118320. 4

Question Number : 56 Question Id : 6801914697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The use of clustering techniques in a gene expression analysis involving multiple
samples 1is typically used for finding genes that are

. Upregulated

. Downregulated

. Coexpressed

. Highly expressed

| S

e a2

Options :

68019118321. 1
68019118322. 2
68019118323. 3
68019118324. 4

Question Number : 56 Question Id : 6801914697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@y, G| aTdl U SiF SfiNeaeie [dReiyul H 1[5 ddb-11h] 1 SUdHT JH-IE:
[ WBR & S $I @Io & [y farar o &:

1.

2. fef-fafrafaa

3.

4. Jfa-arfradfod
Options :
68019118321. 1
68019118322. 2

68019118323. 3

68019118324. 4 gcollegedunias

~



Question Number : 57 Question Id : 6801914698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 18 NOT a common feature of most Word Processors?

. Spell checking and grammar correction.
. Table creation and formatting.

. Image editing and manipulation.

4. Collaboration tools for real-time editing.

I =

Taa

Options :

68019118325. 1
68019118326. 2
68019118327.3

68019118328. 4

Question Number : 57 Question Id : 6801914698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fFrafaied & 9 o 9 sifieiy 98 Taed o 9 fagvdr el 62

1. 9ol SiTd SR 1B UR

2. R fAE70r 3R W@=gur

3. B Fure 3R g

4. T g Y4184 & AU T SYH0
Options :

68019118325. 1
68019118326. 2
68019118327. 3

68019118328. 4

Question Number : 58 Question Id : 6801914699 Question Type : MCQ Option Shufflina : No Is

Question Mandatory : No Calculator : Normal Response Time : N.A 1 i
collegedunia:

Minimum Instruction Time : 0 <



Correct Marks : 4 Wrong Marks : 1

What 1s the difference between a compiler and an interpreter in programming
languages?

1. A compiler translates the entire program before execution. while an
interpreter translates and executes line by line.
. A compiler is not faster, while an interpreter 1s more flexible.
3. A compiler is used for low-level languages. while an mterpreter is used for
high-level languages.
4. A compiler 1s only for compiled languages. while an mterpreter 1s only for
interpreted languages.

| ]

Options :

68019118329. 1
68019118330. 2
68019118331. 3

68019118332. 4

Question Number : 58 Question Id : 6801914699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HHIGRM U3 T SN SR Hadd T a1 3R 82

1. T 3FIHNG [Tsre ¥ Ugd ‘gjmaw D1 3dTg PRl 5. TaiD UP
e Ufea Ui did srarg SR e HRar g
2. 3IHINS ool ol Bidl ©. Siaid [Hddd e 1 gial 3|
3. TS SHIHNS DT FUGHT F9-Ta<g UN1sf & o favar 5irar 8, Safe U
Fdg® &1 ITN 3E-TR W@ﬁ%ﬁmmwﬁ't
YT dhael UG HTw1eii & oy 811 8. Safes fdas dad
%Wﬁ%ﬁmﬁﬂ%l

Options :

68019118329. 1
68019118330. 2
68019118331.3

68019118332. 4

, _ . gcollegedunias
Question Number : 59 Question Id : 6801914700 Question Type : MC(



Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What 1s the purpose of a Router in a network?

1. To connect few devices to the internet.

2. To manage and direct data traffic within a network.

3. To store and access files of all device without user consent.
4. To provide no security for the network.

Options :

68019118333. 1
68019118334. 2
68019118335. 3

68019118336. 4

Question Number : 59 Question Id : 6801914700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Aeqs T AT B Ie 82

1. W SYDRUN Bl 53¢ Y WIS & fofu|
2. A & HidR SeTardrErd & Ye e 3R FE R S

3. dumumdrﬁﬁsmd @ 371 It TSN & BIgal &l GUsid BT AR
39dd

4. ﬂﬁ%%ﬁmaﬁiﬂ%ﬂ e el BRI

Options :

68019118333. 1
68019118334. 2
68019118335. 3

68019118336. 4

Question Number : 60 Question Id : 6801914701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A 1 .
collegedunia:

Minimum Instruction Time : 0

~



Correct Marks : 4 Wrong Marks : 1

What 1is the difference between a variable and a constant in C++?

1. Variables can hold different values during program execution. while
constants have fixed values.

2. Variables are used for calculations. while constants are used for text.

3. Variables are declared with varr, while constants are declared with const.

4. Variable and Constant in C++ both have same fumctionality.

Options :

68019118337. 1
68019118338. 2
68019118339. 3
68019118340. 4

Question Number : 60 Question Id : 6801914701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

C++ T T T 3R U ARi$ & o9 71 3idR 22

1. Y e 3t safd § TRl & e A1 81 9@ d 5. vaid (RRid] &
o fAfad s €1

2. 0T & forU =R &1 94T fohar ofidT &, Safe 9red & fou fRRis &1
UG fHar ST 8 |

3. Wﬁﬁran‘%%’ﬂ}lﬁﬁwwdlé. Sla(h RRIEH B const & TTY TIfvd
ferar Srar 81

4. C++ H R 3R BRI 3 3t T9H YSHHd g

Options :

68019118337. 1
68019118338. 2
68019118339. 3

68019118340. 4

Question Number : 61 Question Id : 6801914702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A 1 .
collegedunia:

Minimum Instruction Time : 0

~



Correct Marks : 4 Wrong Marks : 1

What 1s the base case in a Recursive Function?

1. The condition that stops the recursion and returns a result.
2. The initial value of the function call.

. The number of times the function is called.

4. The parameter used to control the recursion.

Taa

Options :

68019118341. 1
68019118342, 2
68019118343.3

68019118344. 4

Question Number : 61 Question Id : 6801914702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
gRTG0 Ba- 3 YR $F F1 87

1. 9 Ul S gRigf &1 At © 3R afomm St 21

2. B0 ST DT URIHS JH|

3. B @l feaH! aR g a1 sar gl
4, GRIG0A o] R S & foru 39diT foar s arer = |

Options :

68019118341. 1
68019118342. 2
68019118343. 3

68019118344. 4

Question Number : 62 Question Id : 6801914703 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

gcollegedunias

~

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the difference between a pointer variable and the data 1t points to?

1. A pointer variable stores the address of the data, while the data itself is stored
in a separate memory location.

. A pointer variable and the data it points to are the same thing. just different
names for the same memory location.

3. A pointer variable is always larger than the data it points to.

4. Pomter variables cannot point to different data types.

|

Options:

68019118345. 1
68019118346. 2
68019118347.3
68019118348. 4

Question Number : 62 Question Id : 6801914703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U% Ja& 9X IR 78 for ST 1 3R Tavd IRaT ©. I &g 7 SR 82

1. U YT =R 521 & Yd Bl GUeId Pl 5. Taid Sl W U e Hid
W H dUsia fpar A gl

2. TS YIP =R IR T5 o9 ST Pl 3R Ahd Bl o 98 9 5. U o
W M & oY 89 S-S AE 5 |

3. U9 Y@@ IR YUcd 94 Sel 3 531 51dl § forga! 3R 78 Hobd dxal g

4. YIS R [AIF ST UPRI B 3R Hdbd Ao! D Tl 5

Options:

68019118345. 1
68019118346. 2
68019118347. 3
68019118348. 4

Question Number : 63 Question Id : 6801914704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
collegedunia:
Correct Marks : 4 Wrong Marks : 1

~



What 1s the difference between Regular Expressions and String Searching
algorithms in bioinformaties?

1. Regular expressions offer more flexibility for defining complex patterns.
while string search algorithms are faster for simple matches.

2. Regular expressions are only used for DNA sequences, while string searching
works for any type of string.

3. String searching algorithms require programming knowledge, while regular
expressions are more user-friendly.

4. Both String searching and Regular expressions achieve similar goals but with
different syntax and implementation details.

Options :

68019118349. 1
68019118350. 2
68019118351.3
68019118352. 4

Question Number : 63 Question Id : 6801914704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol a1 fag § Fafid sfieisel iR Tw] Wil B [afd T a1 $iR

1. it sifiyedere wicd e o gRuIitd &+ & e it F=2a1 ugH
B &, OIdIch Iy WIol Had [a1Y IR Al & [ a9 gid & |

2. aiq siYcdoid| &1 SUUNT Bad SIUAT 3fhH & (iU a1 ol 6.
Siaidr Y] diel [l i UPR & T o foTy 1 il o

3. X WIS e [afe) & o0 SPHIGRA 1 B SITa=ashdl Bidl 5. SIaid
FRIT e &t SudigdHDd sid o

4,79 @IS 3R Fafid ifiedere gl 901 96dl 1 Uik $Rd § U
SR SHE ATaRIIa=aT SR BTG [4avul & F1Y |

Options :

68019118349. 1
68019118350. 2
68019118351. 3

68019118352. 4

gcollegedunias

Question Number : 64 Question Id : 6801914705 Question Type : MC( -



Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST1I LISTII
Most commonly used for
A |CMYEK I. |representing digital images on

COmMPUIer sCreens

Primarily used for printing and 1s

B. |RGB II. |based on subtractive mxing of
pigments
C. |Heatmaps I1. |Software development methodologies
Waterfall, Agile, - |To vizsualize the expression levels of
D. . IV. .
and Spiral genes across different samples

Choose the correct answer from the options given below:

L. (A) - ). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (II). (B) - (I). (C) - (IV). (D) - (II)

3.(A)-(1). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)
Options :

68019118353. 1
68019118354. 2
68019118355. 3

68019118356. 4

Question Number : 64 Question Id : 6801914705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



It 1 1 gl 11 9 HaH Sifere
T g 1

SR T R f§fea sfaal ®f yelkid & & fau
A (diEaTRS L e aifie Sudi fear st 2

T8 U ¥ G0l & o7e Suan fba o & 3R aufe
B. |3 L % sraeer oo enenfya @
c. [ aAfa 111 |Gt dmR [9ey usiaal
D. ;5%?;”=”““5“‘ﬁR7 IV. |fafir T & o & Sifiyode w1 & exaien & fau

frafead fdpedl & 9 et SR &1 98- DI -

1. (A) - (D). (B) - (IT). (C) - (III). (D) - (IV)
2.(A)- (D). (B) - (I). (C) - (IV). (D) - (IIT)
3.(A) - (D). (B) - (I). (C) - (IV). (D) - (IIT)
4. (A) - (ITI), (B) - (IV). (C) - (). (D) - (II)

Options :

68019118353. 1
68019118354. 2
68019118355. 3

68019118356. 4

Question Number : 65 Question Id : 6801914706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not used as Backpropagation in ANN training?

(A). To caleulate the gradient of the loss function with respect to the network
weights. allowing for weight updates to improve performance.

(B). To imtialize the weights of the network randomly before training.

(C). To determine the optimal number of hidden layers and neurons in the network.
(D). To evaluate the accuracy of the network on the training data.

Choose the correct answer from the options given below:

(A). (B) and (D) only.
(A). (B) and (C) only.
3.(A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options: gcollegedunias

68019118357. 1 -

1:
1



68019118358. 2
68019118359. 3

68019118360. 4

Question Number : 65 Question Id : 6801914706 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafiad § 9 foge U.uA.uH. UiRgl & UyERo & =9 § SYgRT el [dal

STdl 82

(A). iead YR & T§Y T g1 B ! Uquiar &1 01 H3- & [0, UeeH= o

YR B & o1 YR 3{d= Pl Safd

(B). W& § Ugd Ulefos®d U 9 Hcad & YR & URIEISIHI0 BT |
(C). 7eads & ol uRal iR IR B syad Sea Huikd Tl

(D). UTRI&U1 SE1 IR +ead &1 GRSl Pl Hedid Bl
i fGu T faoedl © 9 el oW -

1. %ad (A). (B) 3R (D)
2.9 (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)

4. %ad (B), (C) 3R (D)

Options:

68019118357. 1
68019118358. 2
68019118359. 3
68019118360. 4

Question Number : 66 Question Id : 6801914707 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the three main stages of RNA polymerase II transeription in eukaryotes?

|

e Lid

. Initiation. elongation. termination

. Replication. translation. transcription
. Denaturation, annealing. extension

. Capping. polyadenylation, splicing

gcollegedunias

~



Options :

68019118361. 1
68019118362. 2
68019118363. 3
68019118364. 4

Question Number : 66 Question Id : 6801914707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gebshl H HRTAT UIER 11 Hidera & i+ BT =Rl 1 52

. 3RY, [aWR, Iaw
 Yidepidedur, srare-, uldea
. 3T, f[awR

4. T, UrefiuRRaH, TR

Options :

o b2 —

68019118361. 1
68019118362. 2
68019118363. 3
68019118364. 4

Question Number : 67 Question Id : 6801914708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

One PAM distance between two protein homologs 1s

1. 1 accepted mutation per residues

2. 1 accepted mutation per 10 residues

. 1 accepted mutation per 100 residues
4. 1 accepted mutation per 1000 residues

Taa

Options :

68019118365. 1 gcollegedunias

68019118366. 2 b



68019118367. 3
68019118368. 4

Question Number : 67 Question Id : 6801914708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&I WIS Toeldl & o9 1 PAM 3 ©:

1 1 Eipa df'—JEiﬁt‘i"I afd aRy

2.1 WIPpd SURGH uid 10 3{d2Y
3. 1 WIPpd SR ufd 100 A=Y
4. 1 Wigpd FARad Uid 1000 @RIy

Options :

68019118365. 1
68019118366. 2
68019118367.3
68019118368. 4

Question Number : 68 Question Id : 6801914709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
tBLAST X program 1s used for searching -

1. translated DNA sequence against DNA database

2. translated DNA sequence against translated DNA database
. Protein sequences against protein database

4. DNA sequence against translated DNA database

Taa

Options :

68019118369. 1
68019118370. 2
68019118371.3

68019118372. 4 gcollegedunias

~



Question Number : 68 Question Id : 6801914709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{BLAST X URITH &1 394 9 &1 |l & fore foear wian &

1. ST STeTdd & Ta&@éﬂwagmH DI 3dIg

2. SFFATEA SITTY SeTe & faveg Srfanad SIgTY SropH
3. WIdH Scred & a3 UIdH 3rihd

4. 3aI¢d SITAU STy & [d9 SIUAT 3IhH

Options :

68019118369. 1
68019118370. 2
68019118371. 3

68019118372. 4

Question Number : 69 Question Id : 6801914710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The uptake of Iron into organisms involves special ligands known as:

1. Siderophores
2. Transferrin
3. Lactoferrin
4. Ferritin
Options :
68019118373. 1
68019118374. 2
68019118375. 3

68019118376. 4

Question Number : 69 Question Id : 6801914710 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Normal Response Time : N.A 1 .
collegedunia:
Minimum Instruction Time : 0 s



Correct Marks : 4 Wrong Marks : 1
Sl & e rasiyor F sy Jeh afiEfd € § e s @
1. AlBR
ot
3 gt
4. SfRfe
Options:
68019118373. 1
68019118374. 2
68019118375.3

68019118376. 4

Question Number : 70 Question Id : 6801914711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following bondings / interactions 1s ascending order on basis of their
strength in biological systems: (Weaker bond to Stronger)

(A). Covalent Bonds

(B). Ion-induced dipole interactions

(C). Hydrogen Bonds

(D). Dipole-Dipole interactions

Choose the correct answer from the options given below:

1. (A). (B). (C). (D)
2. (A). (C). (B). (D)
3. (B). (A). (D). (C)
4.(C). (B). (D). (A)

Options :

68019118377. 1
68019118378. 2
68019118379. 3

68019118380. 4

Question Number : 70 Question Id : 6801914711 Question Type : MC( .
collegedunia:

Question Mandatory : No Calculator : Normal Response Time : N.A T



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sifd® i § 3! 9 & onyR R HyfafEd sravAl srara-fearst &
HRISI PH 4 Halyd P: (GadaR U YadR ad)

(A) FeHareil ey

(B) SEF-HIRG faydia sFarg-oamy

:ﬂ%ﬁqwﬁaﬁﬁﬁﬁﬂﬁmgﬁ

1. (A). (B). (C). (D)
2. (A). (C). (B). (D)
.(B). (A), (D). (C)
(C). (B). (D). (A)

N

Options :

68019118377. 1
68019118378. 2
68019118379. 3
68019118380. 4

Question Number : 71 Question Id : 6801914712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Progress in DNA Sequencing methods have been in the following order
(A). Dideoxy sequencing

(B). Shotgun sequencing

(C). Second-generation sequencing

(D). Single Cell sequencing

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A), (C). (B). (D).
3.(B). (A). (D). (C).
4.(C). (B), (D). (A).

Options:
68019118381. 1

68019118382. 2 ,
collegedunia:

68019118383. 3 ~



68019118384. 4

Question Number : 71 Question Id : 6801914712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

21 T, U g fafgt F wofe Fafaf@a e dgs &
(A) STESISIRT SFEPH

(B) RMMcIT ST HUI

(C) Tt digr srIshHmT

(D) Ut BITRehT SHIT]

- fau Y fdeel O 9§ 98l SR 9:

. (A), (B). (C). (D)
.(A). (C). (B). (D)
.(B). (A). (D). (C)
(C). (B). (D). (A)

- =

e s

Options :

68019118381. 1
68019118382. 2
68019118383. 3

68019118384. 4

Question Number : 72 Question Id : 6801914713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the purpose of the Entrez database in bioinformatics?

1. Sequence alignment

2. Data retrieval

. Protein structure prediction
4. Genome editing

s

Options :
68019118385. 1

68019118386. 2 gcollegedunias

68019118387. 3 N



68019118388. 4

Question Number : 72 Question Id : 6801914713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oia YT fogH | U0 Sead &1 Se%d &1 &

1. 3P T @
2. el gAY
3. VI SR=1 &1 9ai-qH
4. SIHH F91E
Options :

68019118385. 1
68019118386. 2
68019118387. 3
68019118388. 4

Question Number : 73 Question Id : 6801914714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
g Needleman and Wunsch 1 lsLosum
B. |Smith and Watermann IT. D}'.na.tmc et i Ciobal
Alignment
C. |Margaset Dayhoft i [ypenente= baopmanin g Soca.
" : Alignment
D. |Henikoff and Henikoff | IV. |PAM

Choose the correct answer from the options given below:

(A)-(I). (B) - (II). (C) - (I1II). (D) - (IV)
. (A) - (ID). (B) - (IIT). (C) - (IV). (D) - (I)

AA) - (I). (B) - (II). (C) - (IV). (D) - (III) g ‘L
(A) - (IID), (B) - (IV). (C) - (D). (D) - (II) collegedunia:

b =

e faa

~



Options :

68019118389. 1
68019118390. 2
68019118391. 3
68019118392. 4

Question Number : 73 Question Id : 6801914714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 1 1 A1 11 ¥ e Sife
Tl I
A [freaimeiRgw | 1L ==
qraHIH® @0 | s

B Ry siRaresia | IL b it
C. [ArRe 281w 1. |=yig TeEur | Tfad HHGEH
D. gﬁmag; b R IV, |39
FrafaiRad fawedl & 4 el 3R &1 994 HIfoiu

1. (A) - (D), (B) - (IT). (C) - (III), (D) - (IV)

. (A) - (IT). (B) - (IIT). (C) - (IV). (D) - (I)
. (A)- (D). (B) - I). (C) - (IV). (D) - (III)
(A) - (D). (B) - (IV). (C) - (I). (D) - (II)

L]

=

Options :

68019118389. 1
68019118390. 2
68019118391. 3

68019118392. 4

Question Number : 74 Question Id : 6801914715 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0 .
collegedunia:
Correct Marks : 4 Wrong Marks : 1 -



A bifurcating branch point in the phylogenetics tree 1s known as .......

1. Node
2. Branch
. Clade
4, Taxon

L]

Options :

68019118393. 1
68019118394. 2
68019118395. 3

68019118396. 4

Question Number : 74 Question Id : 6801914715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g g&f O U fgHIford 2ral fag & &9 3 §HT ordl o:

Options:

68019118393. 1
68019118394. 2
68019118395. 3

68019118396. 4

Question Number : 75 Question Id : 6801914716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-I with List-II

LISTI LISTII
While creating a regular SpcO e
et i The position 15 indicated
expression, if a position 15 : ; g
A : : I. |using residues to be included
restricted to a single conserved 3 i
- ; ; and placed within brackets
amino acid residue
While creating a regular A W
expression, if a position represents THe pornm 15 mitiealess by
g [T 4 P pres II. |residues to be excluded and
multiple alternative conserved ;
; placed in curly braces
residues g
While creating a regular The position 1s indicated as
C. |expression, if the position excludes| IT1. |such using the standard, one
certain residues letter code
While creating a regular e
pE oz . | The position is indicated by
D. |expression, if a position represents | IV, an X .
nonspecific residues. '

Choose the correct answer from the options given below:

. (A) - (1), (B) - (1), (C) - (II1), (D) - (IV)
(A) - (1), (B) - (III). (C) - (II), (D) - (IV)
(A) - (I). (B) - (ID). (C) - (IV). (D) - (III)
4. (A) - (II). (B) - (I). (C) - (II). (D) - (IV)

b

L)

Options :

68019118397. 1
68019118398. 2
68019118399. 3
68019118400. 4

Question Number : 75 Question Id : 6801914716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



! 11 i 11 F e wifore

a1 GLh
U (i Sifersia ] P! YR P B
A g1 T4, TS Bis A=l i e sfafa! &1 39ar
3afey a% difa g PIFS & YR W A &
T g, o U ey || @ SR AR
: S1Td fopa ofral & o/ |ee
B. (@3 dobfcdd Tiéd L | T el & 31K ST
' ! T S
C. |&=d THa, ofg sig=n 111 |®1S &1 U &3 31
AP &I ST Fal ¢ o T &
U A sifiegsn
5 S1d GHY, TG DIS Hael o 3T TP X g1 ST DI
" |eraferwt arammt & B EIGiE
yTafea sl gl
fFafaRad fadmedl H U 9l 3R &1 99+ HIf

1. (A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
2.(A)- (D). (B) - (). (C) - (). (D) - (IV)
3.(A)-({). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (ID). (B) - (I). (C) - (). (D) - (IV)

Options:

68019118397. 1
68019118398. 2
68019118399. 3

68019118400. 4

gcollegedunias

~



